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o] /1 &)

71 ¥kl ¢ 2 (16S rDNA)

T (2
)

0]
=

» PCR
At =3lol i o] 237 (bp)
HaiF TACCTGCCCGAACAGTTCCT
Hai-R CEGAGTAGAACGTGCTCTTG el
MaineF | GAAGAAGCAGGCTCTGATCG
¥aineR | GCAGCAGGGAAT GGTAGTCA el
95°C S5min

95°C 30sec, 60°C 30sec, 72°C 30sec (35 cycles)

72°C 10min
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@ F™A ZC A o 2(H| 11,000
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2IAZ 50mé 10 500
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HAAEA]
T 4
Al EmbEa = Ak 7] E}
. m | 30,693,823 | 29,202,542 | 1,391,983 99,298
B 1,627,404 | 1,509,485 113,974 3,945
m | 27,256,392 | 25870157 | 1,286,937 99,298
A\l A
Lk 682,622 636,403 42.274 3.945
uE m’ 3,418,351 3,313,785 104,566 0
A = 938,302 867,082 71,220 0
= m’ 19,080 18,600 480 0
HofA | = 6,480 6,000 480 0
s 71ek 1 olElelal, gaka v
A8 2 3383
Z A}
TE @ A S| FE 718}
AF A | AA | S| AH | 3| AF | 3R
Al 6,712 499 | 6,346 | 455| 313| 25, 53| 19
A=A | B | 4975 408 | 4629 365| 293| 24| 53| 19
nE N
Py 211736 91| 1716] 90| 20 1 0 0
n= N
e %) = 1 0 1 0 0 0 0 0
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